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Instructions to Candidates
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Section A: Muitiple Choice Questions (60 marks)

For each question from 1 to 30, four options are given. One,oftﬁemismembstsuﬁable
answer. Make your choice (1, 2, 3 or 4) on the Optical Aniswer Sheet.

1. Living things are mainty classified as

(1) plants, animals, fish and fungi
(2) plants, animals, fungi and fems

- (3) * plants, animals, fish and micro-organisms
{(4) plants, animals, fungi and micro-organisms

2. Bob found an organism X in the school garden and noted down some
characleristics as shown below: '

. Needs air
Cannot fly
Can reproduce
Can make its own food

¢ @& & @

Which one of the following could this organism X be?

(1) rose plant'

(2) eockroach
(3} mushroom

(4) bread mould




3.

The diagrams below show the life cjcle of:a plant and:the fife cycle of & dragantly.

Adutt plant

What is the

A.  Beth

-

.. ‘Process P 1 Egg

. ..- é%wq- . Farhﬁ‘- S'Ed‘

-

“u / .. Process Q
| Seeding | P

Addt ) | Young

similarity befween Process P and Process Q7

processes take place at night.

B: Sunlightmust be présentiit both’processes.

C: Both

pracesses require the presence of their-parents:

D:  Suitable temperature must be present in both processes.

(1) Conly

{(2) Doaly

(3) B,andConly
(4) A BandD onlv

The following are some statements made by 4 children aboutiplants after their
Science lesson.

Al
Bob
Charlie
Danny

Flowering plants can produce fruits.

Flowering plants can make their own food.
Non-flowering plants cannot produce fruits,
Non-flowering plants cannot make their own food.

Who has made a wrong statement?

(1) Al

{(2) Bob
(3) Charlie
(4) Danny

%S



§. The diagram belowshmﬂleﬁfeqrdeofa huttesfly.

Adult Larva
pa

Which of the following statement(s) isfare frue?

A
B
C

(M
(2)
3
4

The larva eats a lot”
The larva looks like the adult.
There are 4 stages in the life cycle.

A only

A and B only
A and C only
B and C only

Look at the fwo animals L and M as shown below.

L M

Which one of the following comparisons is correct?

1)
2)
3)
4)

L , M
Has 8 legs Has 6 legs
Has 2 pairs-of wings Has 1 pair-of wings.
 HaSvofeelers |- - Hasfeelars.
Has an abdomen Has no abdomen




Answer Questions 7 and 8 based on the flow chart below.

The chart below shows some characterisfics of organisms W, X, Y and Z.

Is it a plant? No j w
Yes |
Does it produce any flowers? d__iio___’ X
Yes
Does the fruit produce one seed? No. Y.
Yes l
Z

7. Based on the flowchart above, which of the following statement(s) show(s) the

differences between Y.and Z?

A They are flowering plants:

B They can produce many fruits.

C They have cﬁffé"r_gr}t number of seeds:
(1) Aonly.

(2) Bonly

(3) Conly

(4) AandConly

8. The table below shows theclassification of arganisms W, X, Y.and Z. Based on the .
flowchart above, which of the foliowing organisms: are correctly classified?

1)
2)
3)
4)

W X Y zZ
cat orchid apple durian
mushroom moss watermelon mango
fem bread mould orange rambutan
dog cactus fomato papaya
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Four simitar animals P, @, R and S were placed in four similar cages separately. All
four animals were fed daily with the sameé amiount but with-different types of food.
Thefourammalsweremlghed every week. The graphs below show the changes
in meirwexghtovera period of three weaeks. Which animaf is most likely to have

been given the most suitable type of food?

1 ' 4 Animal P
Weight/g
1 2 3 Weeks
(2} Animal Q-
A
Weightlg
1 2 3 Weeks
3 4 AnimalR
Weightig H
1 2 3 Weeks
Animal S
Jr. [ ]
4) .
Weight/g

Y

1 2 3 Weeks




10 Which system in the human body works together with the digestive system by
helping.food to be absorbed into the body?

11.

1)

%)
(3)
4

skeletal syst_em
muscular system
circulatory system
respiratory system

Tom planted three Balsam plants in 3 pots with the same amount of Soil X, Soil ¥
andSoit Z. The pots were placed in the garden and hewatered them with the same
amount of water every day. The diagram below shows the plants after 2 weeks.

Tom was trying to find out if

(1) ~ sunlight will affect plant growth

(2) the type of soil will affect plant growth

(3)  wateris necessary for healthy plant growth

(4) the absence of festilisers wilt affect plant growth

A9



' 12.  Study the classification fable below.

Bedy Systems
-Dig&cﬁve System Respiratory System
Mouth : _ | Nose
Diaphragm | Gullet
Small intestine | Lungs )

Which of the following have been wrongly classified?

A Mouif
B Gullet
Cc Diaphragm

D Small intestine

(1) AandBonly
(2) BandConly
(3) CandDonly
(4 Aand.D.only

13. What is/are the function(s) of the stem of a plant?

A The stem holds the plant upright.
B The stem produces food for the plant
€.  The stem has tubes that transport food from the roots to the rest of the plant.

(1) Aonly
(2) Conly
(3) AandConly
(4) BandConly




14. The flowchart below shows howscmorgamma:ec!aﬁs&ﬁed

15,

Does :t move No -
fromplaceto ——»=D
place?

Y.

Organisms

Yes

Is the body made |
of 3parts? . F——+C

Yes

r
Doesithave | No

Which group A, B, C or D does the above organism most likely belong to?

1 A
2y B
@) C
@ D

A hamburges-eating competition was-conducted to find out who could eat
the most number of hamburgers. In order to have a fair competltlon whatare 3
things that must be kept the same?

A Size of hamburger

B Type of hamburger

C Number of hamburgers

D Time taken for each contestant to eat

(1) A,BandC only
(2) A,BandD only
3) A, CandD only

(4) B,CandD only
5\



18. Samuel compared the hardness of four materials by scratching each material with
material B. Scratch marks were left on the mateﬁalsaﬁefﬂwetestasmowhb_e!w.

s

A ' B Cc D

Arrange the materials in ordef, starting from the hardest material.

(1 ABCD
2 C,ADB
3 B/DAC
4 B,ADC

Bag X BagyY

What can you conclude from the diagram above?
(1 Bag Y is softer than Bag X.

(2) Bag is lighter than Bag X..

(3)  Bag X is stronger than Bag Y.

(4) Bag X is more flexible than Bag Y. -




18; Studythe classificationtable below.

Materials.
. |
L 1
Group X Group Y
|
Cotton shirt Spectacle lenses
Storybook Nylon socks
Rubber hose Plastic bag
M N
What can M and N most likely represent?
Group X Group Y
i ) Balloon Leather belt
gg Ceramic tile Raincoat
4) Woaden chair Glass cup
Drink can Tissue paper

10

53






19, A block of metal, with a mass of 100g, and a block of styrofoam, with a mass of 5g,
were put into atank of wateras shown below. Bo&bbckswefeorfﬂmesame
volume, .

D
[c]
B
]
What fetter most likely represents the, block of metal and the block of styrofoam?
| Metal block - Styrofoam block

1) A D

2) A B

3) D - C

D A

4)

11



20. A bar magnet is divided into four equal parts as shown below. Damel tested the
nmgneﬁsm of the magnet by bringing itnear some paper-clips.

Which of the following shows the comrect number of paper clips each part of the
magnet can attract?

A B c D
4 10 12 3
10 8 6 4 |
10 3 4 | 12
10 10 12 .12

21. Which of the following statements correctly describes sunlight?

g
(2
3
4

Sunlight is matter. It has a definite shape.

Sunfight is matter. It has mass and occupies space,

Suniight is not matter. It does not have mass and does not OCCUpY space.
Sunlight is not matter. It occupies space but does not have a definite

shape.

12




22. Peter conducted an experiment to find out whether the fimbef of tuins of coil
aroursd an iron nail affected the strengﬂnofane%ec&omagne“t.ﬁesetupt#
arrangements as shown in the diagrams below.

10 coils

Which 2 arrangements should he use to make it a fair test?

(1) AandC
(2) AandD
3y BandD

(4) BandC -

13



23. The diagram below shows the number of paperclips that were picked upby 4

- different magnets.
Magnet A Magnet B
‘Magnet C "Maghet D

What can be concluded from the diagram above?

(1) A bigger magnet has a stronger puli.

(2) A smaller magnet has a stronger pull.

(3)  The strength of a magnet depends on ifs size.

(4)  The strength of a magnet does not depend on its size.

14




24, Sean.conducted.an.expesiment fo find out how the strength of a magnet is affected
when itis dropped:-He dropped the magnet 10tmesandree¢rdedﬂwe number of
paper clips it atiracted. He repeated the experiment 3 more times, dropping the
magnet another 10 times each time. The graph below shows the results of his

experiment.
10 ¢
g_-
8
7 L
Numberof ¢ & T
paperclips g5 | .
attracted
4
3
2 |
]
1
0 r 1 1 . ] . ]
10 20 39 40
Number of drops

From the graph above, which of the'following statements is comrect?

(1)
()
3

@

 After 40 drops, the magnet can nio longer attract any paper clips.

After 30 drops, the maguet could attract more than 7 paper clips.

The greater the number of times the magnet is dropped, the more paper
clips it can attract

The greater the number of fimes the magnet is dropped, the less paper
clips it can attréct

15



25. John conducted tesis on 3 metal bars, X, Y and Z He brought each rietal bar near -

‘some paper clips, He alsa brought each metal bar nearthe fwo ends of & magnet.

Metal | ‘Doesitatract | Canitbe attracted | Canit bé'repened
Bar paper clips? by a magnet? . by a magnet?
X J A oy
Y ¥
z

Which of the following correctly describes metal bars X, Yand Z?

X Y Z

1) Magnetic material | . Magnetic material Non-magnetic
' material

2) "~ Magnet Magnetic material Non-magnetic
' ' material
3) Magnet Magnet _ Magnet

4) | Magnetic material Magnet . Non-magnetic
1 material

16




26. Which of the following statementi(s) about mater ks/arer correct?

o mr

(0

@)
(@)

‘Al matter has mass!

All matter has a definite volume.
Some matter does not occupy space
Some matter does not have a definite shape.

A only

A and Donly-

A, CandDonly
A, B and.C only

27. Look at objects A and B.

Volume = 20 cm®

Volune = 20 cm®

What can you conclude from the-diagian above?

(1)
(2)
)
(4

Object A takes up more space than Object B.

Objects A and B are made of different materials.

Objects A and B take up different amount of space.
Objects A and B have the same amount of matter in them.

ol

17



28. The flow ehar below shows how-some matter-are classifiet,

Matter

r

Does it have a
definite volume?

. Yes

No

Canitbe.
compressed?

Yes

h 4

®

Doesithavea

definite shape? |

| No

O

What can P, Q and R most likely be?

1)
2)

3)
4)

P Q- R
Milk e Air
Cotton wool Petiol Oxygen
Oxygen Sand Ice
Carbon dioxide Mitk Catton Wool

18




29. mmcfmefoumngd:agramssmwﬂxemectwayqfreadmgﬂwvolumeof
fiquid ina nleasznmgqrrmdeﬁ

-'(1) @

) o
1 r .

@) | | @

19



30. The diagram below stiow four syringes, A; B, C'and D, wiltv theirnioszles

Syringe A . Syringe B

- -
------

“ s a. -
ooooo .I
EIC Y

« ey

- -

Which of the syringe(s) can be pushed in further?

(1) Donly

(2) BandDonly
(3) CandDonly
4 A BandD only

20
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Section B: Open-Ended Questions {40 marks)

Read theﬁ:llomng questions wreftﬂlyandmeyouraiwwefs in ihespaoe provided.
, Themaxxmwnmarksﬁatcanbeawarded :sshownatﬁeendofeachqu%t:onor

part-question.

31:  The diagram below shows two orgarisms.

(@) State one similafity in the life cycreaf the l?al.rtterl’lyr and the frog. [11

(b) State one difference in the life cycle of the butterfly and thefrog. - [1}

22




32. Name the paris of the organs in the figure shown below. ‘

w
X
(@) Patw: [1]
Part X:

(b) Whatis the function of the lungs of a human being? _ [1]

23
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33 A few children made a sugg&ston each mwhat could cause a plant gremnag ina
pothodieevemuaﬂy .

John . - Cutfing off all the roots:

Rahim . . Cutting off all the fruils,
Abdul-  Cutling off all the flowers.

(@) Who has made a comectstatement?- | [1]

(b) Explain why cutting off the pairt(s) suggestéd in (a) will cause the plant to die. [2]

24




34. Johi found some-pens and.pencils as shawn-balow.

4)\ | -  — ‘ R = e oo
- - 1-.ltis a'black ball
« it is a black ball « It is a black 2B point pen.
_ pointpen. - mechanical pencil.] « It does not have
e {thas a cap. ‘ ¢ There 510 eraser:: acap:
| = ltisa 2B black
pencil.  pencit.
« There is an "« There is no
eraser. o _eraser.

Ctassify all the above pens and pencils by writing A, B; C, D and E in the table below.

31
Pens and Pencils
Pens Pencils-
®___ @_. | j@__, | W___
W L —
3

25



Soil
lsrﬁaifs teacher said that it was not a fair test.

Draw and label clearly, what a fair test for the ahove experiment would be in the
two boxes provided below. 2]

26




Somestatementeweremadeassﬁmmﬁleiablebebm Putattck(ijnext -
tothe: sfatementthat”:s—'Tme'FalseorNot possﬁ:letodeﬂ.

2

** “Statements

T e’

Fake

Naot Possible To

noodies than poridge.

(a) | More saliva is produced when we eat |

Tell

(b) | Our mustles and joints usuallywork’.

me;toeqahieustomve.

waste,

v ‘=s:s!‘-— ng,egtEd at ﬂ'le 'a'fge |
mzmmymre storea~as*~§

(d) | Our heart pumps blood to camy
oxygen and carbon- dioxide to and

from our lungs. -

27
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37.

@

(b)

©

In.the foﬂovangexpenmnt,Matﬂxewplaeed 3 frogs in 3 similar confainers with
different cavers as shown below.. All the theee set-ups havefhe same amount of
water. Some fruit flies were placed.only in thecontainer in set-up B.In setup C,
when Matthew placed a ripe banana for the fruit flies to feed on, more fruit flies
were atfracted to the banana. After some time, the frogs in Set-up A and B died.

covered with wire mesh tight plastic cover
J SN RN AR AR X NN N N NN AL RN AR AR,
=
frog — %
water
Set-up A . : ~ SetwpB

=~ fruit flies

ripe banana

ate

Based on the above experiment, what other conditions does the frog need in order

- to live? [
Which frog wilf live the longest? 1]
Explain your answer in (b). (1

3

28




38.

Some beans were placed in a container of molst cotior-wool. Thebeans .
germinated after a few days and havé grown4alleroversome time. The: graph
below shiows the mass of the Seed-leaves-over fime.,

Mass of seed
leaveslg: -

P
»

Number of
days
(2) Which line, X or Y: on the graph represents the change in the mass of the seed
‘leaves-over time?: 4 i
(b) Explain your answer in (). {21
3

A%

29



39. The picture below shows a bicycle.

{a) Identify a suitable material used to make each part below.

21
( PartX-

(i) PartY-—

(b) Wiite down one property of Part Z that is important to serve its function.
)

30




Start
4 A .
* Yes SN Yes
Is It transparent? 1§ itfragle? |_YeS_, '
"Nos
} 2 N ¥
s it flexible? Yes | Isitelastic? _E—s—y.@
No
h 4
Is it strong? Yes Is it hard? __‘.Les_,@
No
Y
Q,
(a) From the flowchart abeve, what are the pfopeﬂies of Material M? 1l
(b) Which material is most suitable for making a pair of fisherman boots? (1]
(c) Which material is mostsuitable for making the blade of a knife? 1]

31




41. Grace has 3 objects - 2 magnets and 1 iron bar. She labeﬂedﬁleends ofthe
Objects as,shommm the diagram belew

She then brought the ends of the iron bars close to each other to find out how they
interact. The results are shown in the table below.

'. Ends brought close tq. Aitract- Repel
each other
| AandC J
BandD o ¥
Aand E | Al
‘CandF \f |

“Based on the observatlons ‘above, what would happen to the above 'objects if the
ends dre brought clase to each other? Record yoUr atiswérs in the table below
with a tick. 2]

Ends brought close to Attract ‘Repet
each other

Band C

.BandF

Can_dE

DandF

32



42 Tithmy conduétéd dnrexperiment. He plceéd a bar magnet Oﬂerapiece of paper

to see how many paper clips it cotild"pick up: Hemedﬂxesamemagnetami

repeated the experiment with a piece of plastic, a piece of wood and a piece of
steeLTTleresu!tsareshownmﬁ:etabiebelmv )

Wood

Paper Plastio shoet
~ Paper " Plastic Wdod Steel
12 10 4 @

{a) How-many.papet clips could be affracted when the bar magnet s placed ' over
the piece.of steel? Write your answer in the table above.

(b) Give a reason for your answer in (a).

(c) Name’ong variable that ‘must be kept constant to ensure this experiment is a fair

test.

17




43. Lookatthe set-up below and answer the following questions.

" Plastic funnel

Basin of water

Plastic tube

Beaker of."water

(@) What will be observed when the funnetis pushed down into the basin of water?

1}

(b) PBxplain your answer in (a)

[2] .

34




44. Janetplaced & ball of plasticine of mass 100g and a volume of 50 o into a beaker
of water as shown below. ' : S

x A

—
.,$
Leis

o

T -
WERRL ARETL

{a). Janettook out the plasticine and splitit into-ftwo piécés. Shie'then put the 2 pieces
back into the beaker. Using a ruler, draw the waterleve! in the beaker now. 1]

\

(b) Explain what has happened to the water level. {21

35



45. The diagram bemshowsa cyﬁnderﬁlledvqﬁl some marbles ofvo!ume400m

Jane then poured some water into the cylinder to a certain height. The volume of
waterand marble is now 100 cm®.

(@ How much water did Jane pour into the cylinder? Tick the correct answer.  [1]

(b) Explain your answer in (a).

3

60 cm™

More thsm 60 cm®

Less than 60 cm®

23

- End of Paper -
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EXAM PAPER 2012

SCHOOL : CATHOLIC HIGH PRIMARY SCHOOL
SUBJECT: PRIMARY 4 - SCIENCE
TERM : SA1

- I s L

1(4)2(1)3(2)4(4)5(3) 6(2) 7(3) 8 (2) 9 (2) 10 (3) 11 (2) 12 (2) 13 (1)
14 (1) 15 (2) 16 (3)

17 (3) 18 (3) 19 (1) 20 (3) 21 (3) 22 (2) 23 (4) 24 (4)25 (2) 26 (2) 27 (2)
28 (4) 29 (3) 30 (2)

31 They both lay eggs. / Butterfly has 4 stage life cycle, while the
frog has 3 stage iife cycle.

32 Windpipe / Lung / Lung helps exchange gases with the
surrounding.

33 John / This is because there are no roots to absorb water and
mineral salts from the ground, the plants will die off.

34 A/C/BE/D/B/E
35

1/3
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EXAM PAPER 2012

SCHOOL : CATHOLIC HIGH PRIMARY SCHOOL
SUBJECT: PRIMARY 4 - SCIENCE
TERM : SA1

36 TRU'I_E‘/ TRUE /FALSE / TRUE

37 Base on the above experiment, frog need air and food in order to
live,

37 Set-Up C will live the longest.

37 This is because Set UpC have more food and air for the frog to
live.

38Y

38 As the seeding grows, the nutia on the seed will be used up, SO
the mass will reduce.

3?7 Metal / Rubber/ Strong
40 Material M is Transparent and Fragile. / N /S
41 Attract / Repel / Attract / Attract

42 0/ Steel block the Magnetism from passing through, so that no
paper clips are attracted.

42 Make sure the distance between the piece of material are the
same,

43 air bubbles with come out from the other end of the plastic tube.

2/3




EXAM PAPER 2012

SCHOOL. : CATHOLIC HIGH PRIMARY SCHOOL
SUBJECT: PRIMARY 4 - SCIENCE

TERM : SA1

43 This is because when plastic funnel place down on the basin of

water, water enters into the funnel, pushes the air out of the space.

This Is because dir occupy space.

44 100 / The water level has not changed, this is because the
space of the plasticine remains the same.

45 More than 60cm3 / There is space in between the marbles.

3/3
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